Termination for the Full Chain

!L| (Cont'd)

S.Burdin (FNAL)



Source termination

R44, R46 = 56 O
R1, R2 = 1200

=t
Uz — R43 g

18 2 17
S oy

2
]
1 pde 0
Bl AW
] 12% R44 R46 R4
I0E o0 a0 a0
40E _ R1
% I
i
Modai LY
— [ R2 Model LY
Lhg Mode Ly

2 |

e

= [0 p7 a2

Hn InLY

TALVT 125501

4/14/2003 S.Burdin / Full chain termination



CH_MODE & PRIN
No termination on Hybrid
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R1,R2 = 68 O
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CH MODE — no termination
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CH MODE - termination 56 Q
on hybrid
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CH_MODE - termination 68 Q
on hybrld
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CH MODE - termination 68 Q
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Clocks

TelcStop |

4/14/2003

X

Ch2| 100mv
®E Toomv |

M40.0ns| A Ch1 F 2.02V

i100.0 %

S.Burdin / Full chain termination

336mv
2.07 V

193ns
—203ns

Ch2 High
2.47 V

Ch2 Low
2.06 V¥

Ch3 High
2.42V

Ch3 Low
1.99 YV

10 Apr 2003
14:00:51



1)
~
4w
=
1o
=

g N A e s .
. : : : : 4 : : : : A B.00mvy
a.ﬁ Z Z Z Z Z Z Z Z Z 1@ 786mv
£) M (. T e 1A 195ns

. 4 Ch2High
L . 1.65V

B S Ch2 Low
[ Z Z Z Z Z 634my

............................................................

Ch3 High
1.64V

Ch3 Low
632mVy

@ip 200mv  M[40.0ns| A Ch2 S 1.30V
Ch3| 200mv | 10 Apr 2003

[23.60 % 14:11:35
4/14/2003 S.Burdin / Full chain termination 10




PRD2
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Voltage
2.95
§ 2.9
©
§, 2.85
o 28
% 2.75
s 27
2.65
4.5 4 35 3.4 3.3 3.2
V from source
1000
Voltage 950
= 900
2.6 £
=
3 850
o 2.55
= 800
2 25
I
£ 245 750
>° 45 35 3.4 3.3 3.2
2.4
V from source
2.35
4.5 3.5 3.4 3.3 3.2
V from source
4/14/2003 S.Burdin / Full chain termination 12




	Termination for the Full Chain(Cont’d)
	Source termination
	CH_MODE & PRINNo termination on Hybrid
	R1,R2 = 68 ?
	CH_MODE – no termination
	CH_MODE – termination 56 ?on hybrid
	CH_MODE - termination 68 ?on hybrid
	CH_MODE - termination 68 ?on hybrid
	Clocks
	L1A
	PRD2
	VDD

